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1)  Which of the following is NOT a "flow" variable? 

A) money 

B) income 

C) saving 

D) all of the above 

E) none of the above 

2)  Suppose the central bank wishes to conduct expansionary monetary policy. Given this, we would expect which of the following to occur? 

A) a central bank sale of bonds and a reduction in the interest rate 

B) a central bank purchase of bonds and an increase in the interest rate 

C) a central bank purchase of bonds and a reduction in the interest rate 

D) a central bank sale of bonds and an increase in the interest rate 

3)  The velocity of money is defined as: 

A) the ratio of money to high powered money. 

B) the ratio of money to bonds. 

C) the ratio of money to nominal income. 

D) the ratio of nominal income to money. 

E) the ratio of money to real GDP.

4) Suppose that the price of a bond paying 90$, is 50$. What is the net interest on the bond?

i=90/50-1=.8
5)If the net interest of a bond paying 100$ is 6%, at what price does it sell?

P=100/1.06=94.34
For 6) and 7) suppose that money demand is Md=$Y*(.5-i).

6)If the Ms=100$ and $Y=250$, what is the equilibrium interest rate?

From 100$=250$(.5-i), i=.1
7)If $Y increases to 400, what is the equilibrium interest rate?

From 100$=400$(.5-i), i=.25
For 8) 9) and 10):

· I=13, c0=5, T=4 and c1=3/4. 
· Firms order in each period the amount that they ordered in the previous period, minus any unintended inventory accumulation in the previous period. 

· In period 0 the economy is in equilibrium and G=10.

· In period 1 G falls to 5.

· From period 2 on, G is equal to the initial value 10.

8) What is total (national) saving in period 1?
Y(0)=4 (28-3/4*4)=100
S(1)=-5+1/4*(100-4)=19
TS(1)=19+4-5=18
9) What is total income in period 2?

Z(1)=13+5+5+3/4*(100-4)=95
Y(2)=Z(1)=95
10)What is the equilibrium value of consumption at infinity?
Y(inf)=Y(0), because G returns to the initial value after period 1

So: C(inf)=C(0)=5+3/4*(100-4)=77

